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b.	Solve the game in Figure 4.14 for all Nash equilibria.

c.	Does either of the drivers have a dominant strategy? If so, what is it?

d.	What strategic situations in comparative politics might fit the basic structure of the Pure 
Coordination Game? In other words, provide a specific example in which actors might 
have preferences and interactions like those in the Pure Coordination Game.

7.	 Asymmetric Coordination Game

Consider the following strategic situation. Archie and Edith are two people who would like to 
go on a date with each other. Archie likes going bowling, and Edith likes going to movies. 
Unfortunately, Archie and Edith work on different sides of town, and for some reason, they have 
no way of contacting each other to decide whether the date will be at the bowling alley or the 
movie theater. The most important thing for both Archie and Edith is that they be together in 
the evening. In other words, they prefer to go to the same venue, whether it is the bowling alley 
or the movie theater, rather than miss each other. Of course, if they could guarantee being 
together, Archie would prefer to be together at the bowling alley, and Edith would prefer to be 
together at the movies. Similarly, if it was going to be the case that they were not together, then 
Archie would prefer to be at the bowling alley whereas Edith would prefer to be at the movie 
theater. Political scientists call strategic situations like this Asymmetric Coordination Games 
because both actors want to coordinate on some outcome, but their preferences conflict over 
what that outcome should be. The empty payoff table for the Asymmetric Coordination Game 
is shown in Figure 4.15.

a.	Write down Archie’s preference ordering over the four possible outcomes in the game. 
Now write down Edith’s preference ordering over the four possible outcomes in the game. 
Once you have done this, allocate appropriate payoffs (numbers) to these preference 
orderings and enter them into the relevant cells of the payoff table in Figure 4.15.
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